CAE TEST 2 Paper 3 Part 4 71

Part 4

For questions 3842, think of one word only which can be used appropriately in all three
sentences. Here is an example (0).

Example:

0 Explaintomethe......cccoiiniennn of having another meeting.
Itwas atthat .....cooeeenvvenniciiininn: that most of the audience got up and left.
Welosta .....ooounne because one person in our team started the race too early.

Example: POINT

38 My mother .....cooeervciciiniaicnnns down an old photograph album for us to see.
The pollution from the factory has ... local people many problems.

The concert was watched by millions of viewers and ... people together from all

around the world.

39 When Laura checked the shirt label, she saw that it ..o ‘Hand wash only".
Unfortunately I ..o the map wrongly and we ended up too far south.
The Sergeant .....ccueesseussesninns out the names of the officers who would work on the case.
40 THhink it's ceeimesmoesen. to say that our team was the most successful.
The council seems to have @ .....coiiinicieininn idea of what the people really want.
Kate has @ .ooeeverseeseenmnnnnss complexion, unlike the others in her family.
41 The weeooooooooososossnnnnr. between our two companies should be profitable for both of us.
In my opinion, the principal didn’t ..o with the students in the right way.
A great i of time and money was invested in the new project.
42 The two FeamMS weueeeeeeeeesnensirreeniees each other in the final match this weekend.
The photographer asked the bride and groom to ... each other for the final shot.
Weneed to ....oeiineneenniiaein the fact that the problem has got out of control.

Before you check your answers, go to page 72,




